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DO NOW

A builder is building a rectangular deck with
dimensions of 16 feet by 30 feet. To ensure that
the sides form 90° angles, what should each
diagonal measure?
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A square is a parallelogram with four right
angles AND four congruent sides

It has ALL the properties of:

a parallelogram, PLUS a rectangle PLUS
a rhombus!
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Properties of a Square
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1) In square PQRS, PR =5x-3 and QA =4x - 6.
What are the values of x, PR, QS, and QA?
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2) The perimeter of square ABCD is 32. Find

the length of diagonal BD.
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3) GivenBCD and 45.2 ar

m/BAC = (9x)’, find x

Ax =43 i
| Y = 51
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4) In the diagram below of rhombus 4BCD, the
diagonals AC and BD intersect at E.

If AC = 18 and BD = 24, what is the length of one

side of rhombus ABCD?
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5) In the accompanying diagram of rectangle ABCD,
m/BAC = 3x +4 and mZ4CD = x +28.

What is mZCAD? B C
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